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ERROR DETECTION




Q.1. The results of the survey were

fairly disappointing.
a) The results
b) fairly disappointing.

c¢) of the survey were

d) No error

Answer: (b) fairly (Adverb) : honestly; in a fair and
reasonable way. Hence, very/rather disappointing is
the right usage



Q.2. The young child singed a very sweet

song for the audience.
a) singed

b) a very sweet song

¢) The young child

d) for the audience

Answer: (a)
Sing = Sang (Past) = Sung (Past Participle)



Q.3. The chairs in the (1)/room are in a (2)/

state disarray. (3)/ No error (4)
a) room are in a
b) state disarray.

¢) The chairs in the

d) No error

Answer: (b) disarray (N.) : a state of confusion and lack of
organization Hence, state of disarray is the right

usage.



Q.4. This book is different than that.

a) This book
b) No error
¢) is different
d) than that

Answer: (d) It is preposition related error. Hence,
different from is the right usage.



Q.5. When one takes great risks they

must be prepared for great losses.
a) When one takes great risks

b) for great losses.

¢) they must be prepared

d) No error

Answer: (¢) Here, one must be prepared is the right

usage.



Q.6. Some genuine issues exist (1)/ with the

newly adopted (2)/ system and needs to (3)/ be
examined seriously (4)

a) be examined seriously
b) with the newly adopted

¢) Some genuine issues exist

d) system and needs to

Answer: (d) Replace needs with need



Q.7. The light bulbs (1)/ on the hall (2)/ need

to be changed. (3)/ No error (4)
a) on the hall

b) need to be changed.

¢) The light bulbs

d) No error

Answer: (a) There is a Preposition related error.
Hence, in the hall is the right usage.



Q.8. Being able to(1)/ remember a lot of information’s
Is (2)/ not the same as (3)/ being able to think (4)

a) being able to think
b) remember a lot of information’s Is

¢) Being able to

d) not the same as

Answer: (b) Replace information’s with information



Q.9. One should have their teeth

checked every six months.
a) every six months.

b) No error

c¢) their teeth checked

d) One should have

Answer: (c) Possessive of one is one’s.




Q.10. Sooner had he come (A)/ his colleagues (B)/
organised a get together. (C)/ No error (D)

a) his colleagues
b) organised a get together.
¢) Sooner had he come

d) No error

Answer: (c) Here, As soon as he came is the right usage.



Q.11. One of them (1) /forgot to take (2)/

their bag (3)/ from the school(4)
a) from the school

b) forgot to take

c¢) One of them

d) their bag

Answer: (D) Replace their bag with his bag



Q.12. Before we returned from swimming in the river

near the camp/someone had stole our clothes/and we
had to walk back with our towels around us.

a) and we had to walk back with our towels around
us

b) Before we returned from swimming in the river

near the camp -
c) No error |M|
d tol

d)s %vevgll'l e((B q{e ace sto e Wi l{ﬁshad stolen




Q.13. Considering the (1)/ gravity of the problems
(2)/an early reply has expected. (3)/No error (4)

a) gravity of the problems
b) an early reply has expected.
¢) Considering the

d) No error

Answer: (b) As the sense suggests, Passive of Present
Simple i.e. an early reply is expected is the right

usage.



Q.14. The students refused (A)/ to accepting
responsibility (B)/ for their acts. (C)/ No error (D)

a) to accepting responsibility
b) for their acts.

¢) The students refused

d) No error

Answer: (a) Replace to accepting with to accept



Q.15 Either my colleague (a) /or a peon are coming
home (b) /with the material today. (c) /No error. (d)

A. Either my colleague
B. or a peon are coming home

C. with the material today.

D. No error.

Answer: (b) Replace 'are' with 'is’.
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Q.16 Find the correctly spelt word

a) aeroplain
b) aeroplane

¢) airoplain

d) airoplane

Answer: (b) The correctly spelt word is aeroplane
aeroplane (British English) airplane (American
English)



Q.17 Find the word which is spelt

correctly from the given words.
a) Alitration

b) Alliteration

¢) Aliteration

d) Alitration

Answer: b) Alliteration



Q.18 Find the correctly spelt word.

a) sentimentalist
b) sentimantalist
¢) santimentalist

d) sentimentelist

Answer: a) sentimentalist
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Q.19 Find the correctly spelt word
a) exanrate

b) exenerate

¢) exonarate

d) exonerate

Answer: d) exonerate
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Q.20 Find the correctly spelt word
a) nirvanna
b) nirvana
¢) nyrvana

d) nirvena

Answer: b) nirvana



Q.21 Find the correctly spelt word

a) instanttanious
b) instanttaneous
¢) instantanious

d) instantaneous

Answer: d) instantaneous
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Q.22 Find the correctly spelt word
a) ominous
b) ommineous
¢) omenous

d) omineous

Answer: a) ominous



Q.23 Find the correctly spelt word

a) parseverance
b) perseverence
¢) persiverance

d) perseverance

Answer: d) perseverance
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Q.24 Find the correctly spelt word
a) charactar

b) character

¢) chaerector

d) charecter

Answer: b) character



Q.25 Find the correctly spelt word

a) ingredeint

b) ingreedient
¢) ingredient
d) ingridient

Answer: c¢) ingredient
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Q.26 The research reported here is
based at a survey.
a) Based on an

b) Based on a

¢) Base at a

d) Based into a

Answer: (b) Based on a



Q.27 Many a man would welcome the

opportunity.
a) Many man
b) A many man

¢) Many a men

d) No improvement

Answer: d) No improvement



Q.28 In recent held cricket matches, most of

the players scored more than 50 runs.
a) recent holdings of
b) recently hold
¢) recently held

d) recent holding

Answer: c¢) recently held



Q.29 She can easily afford it, as she has little

money and hardly any expenses.
a) a little money
b) the little money

c¢) less money

d) No improvement

Answer: a) a little money



Q.30 He had his breakfast, when we visited him.

a) He had taken his breakfast
b) He wished to have his breakfast
¢) He avoided his breakfast

d) No improvement

Answer: a) He had taken his breakfast



Q.31 Newspapers have great power

because their enormous circulation.
a) As a result
b) On account
¢) Because of

d) owing

Answer: ¢) Because of



Home Work

Less people came to watch cricket

matches this year, so the gate
receipts were lesser than last year.

a) Many

b) Fewer

¢) Lot of

d) No improvement
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Home Work Answer

—/

Select the correctly spelt word.
(a) previledge

(b) peivailege

(c) privilege

(d) previllage
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